> Diff(exp(x*2), x):%value(%;
2

d X
— ¥ =2xe"

dx
(> Di ff(exp(x"2), x$2): %val ue(9;
d? X o X 2 X2
Ee =2¢ +4x°e
(> alias(y=y(x));
y
E eq: =x"2+y”"2=c;
eq:=x2+);=c
[ > dydx: =sol ve(diff(eq,x), diff(y,x));
dydx::—5
y

> alias(y=y);
> Diff(exp(a*x*y”*2), x,y$2): %value(%;

03 2 2 2 2
eV =2 ae®™ 1£10a° Y xe™ + 4 gyt ¥ eI

0P 0x
> I nt egrate(x/ (x"3+1),x): % value(%;
X dx:-lln(x+1)+l1n(x2—x+1)+lﬁarctan(l(2x
X +1 3 6 3 3
—1)J?)
=> I ntegrate(x/ (x"3+1),x=1..2): Y% value(%;
2
X 1 1 1
dx= = In(2 — — =1
LX3+1 X 3 n( )+18\/?n 6 n(3)

[> sum(k”7, k=1..20): %val ue(%;
20

> K =3877286700
k=1

=>t::taylor(sin(tan(x))-tan(si n(x)), x=0, 13);
e 1 7 29 o 1913 X+ 0(x13)

"30% T 756 % T 75600

(> Limit((xA2-1)/(2*x72-x-1), x=1): %val ue(%:
>l o2x¥—x—-1 3
> Lini t( cos(x)"N(1/x"3), x=0, right): %val ue(%;
1

3
lim cos(x)® =0
Lim, (x)



_7 (%11) 'diff(exp(x™2), x)$ %=ev(%, nouns);

d X2

2
%eX =2 x %eX
d x

(%02)

_7 (%13) ‘'diff(exp(x~2),x,2)$ %=ev(%,nouns);
d2 x2

2 2
2%e =4 x2 %X +2 %eX
d x

(%04)

_7 (%15) eq : x*2 +y™2 = c; depends(y,Xx);

(%05) y2 +x%=c

(%06) [y(x)]

_7 (%17) dydx:solve(diff(eq, x),'diff(y,x));

d X
(%07) [—y=-—1
d x y

_7 (%18) remove(y, dependency);
(%08) done
_7 (%19) ‘'diff(exp(a*x*y™2),x,1,y,2)$ %=ev(%, nouns);
d3 2 2 2
(%010) ——— %@ XV =423 x2 y4 %@ XV +10a2 x y2 %@ XY 424
dxdy2
2
%ed XV
_7 (%111) 'integrate(x/(x"3+1),x)$ %=ev(%,nouns);
. 2x-1]
atan|———
X log(xz-x+1) 3" ) log(x+1)
(%012) dx = + -
x3+1 6 N3 3
4 (%113) ‘'integrate(x/(x"3+1), x,1,2); %=ev(%, nouns);
i 12
X
(%013) dx
J 1x3+1
(2
log(3) 6 log(2)-+/3'n
(014) S g( )+ g9(2) LT
J 1x3+1 6 18 33/2

_7(%115) 'sum(k~7, k,1,20)$ %=ev(%, nouns):
20

(%016) Z k7 =3877286700

k=1




? (%i17) t

1
x3

(%021) lim cos(x)

X ->0+

0

: taylor(sin(tan(x))-tan(sin(x)),x,0,11);

x” 29 x? 1913 x11
%017)/T/ -—- - +
] 30 756 75600
7 (%118)  'limit((x"2-1)/(2*x"2-x-1),x,1)$ %=ev(%, nouns);
_ x%-1 2
(%019) 1lim =—
X->12x2-x-1 3
7 (%120) 'limit( cos(x)~(1/x*3), x,0, plus)$ %=ev(
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